BEE

=5

| |
+ +

q—

| |
+ +

fik:
FREXFIFERIPSBENFETRZ RIS, FI0:
® RAEHFHAN

o EENRERIR

® FhBHE R4 Fiky

® HF/EIL N

RABEREERND (SEEN) , AeERFITEREREAM TR Alt, SHENEESREL
TERH.

BEFREAGHFESAUEEMRSSHEETLTIELSGETHNERSES

AL

W BB CSM #% 65+3 BFRHEE A
2E: KN
7 REW

BESEE: 0-90 °C

ittt 21 : FEF
W FEF
AT iy

i S A (2E4h) #F
RE: FEF
7k: 2

it a4 4. %
i=y54:08 2

R

B EUE B e B AT LR 4T
HRABZER AT DA RE s R R~/ M R 7=

£ 2480.011. JEMKE Z

—t—

F 2480.055./057./064. EIE B 2480.007./008. Bl

I

)

— M

1
o s
i N2

AN

FH 2480.044./045./047. EE

SEEENHEREARN
SN SEBERRER —N

F364 F

IBRO

iz,
HE

= 9

éﬁ% RN\

TEEHENEFLR

d

PRE B RHIRF


https://www.de.shop.fibro.com/en/2480-080-
https://fibro.partcommunity.com/?info=fibro/normalien/f/f12/f12_17/2480_080.prj

W ] (89

2480.080.
| dai
[—-————————————————— dli
f——d,——
‘ “m”  (E3K424£T DIN EN ISO 10642)
1
f Ve
B . !
+ = & ()
“n" B E *La,ﬁ —— 2@
% d54‘ *
- | 1
\/’W "
. [
/ é £
\\ >
I N~
i H —
2 [
= .
mm\/\/
BRAE ‘
) | C
| B N
ZD
2480.080. HLE
o S o o o S o o
;8 g8 S 4Rs S E8g gBs o S o S8 o 85 o s o
_ 88 83 g BSE £ 855 §53 g S9% g8 838 g8 g8g g 88
% 88 88 8 38838 8 3585 535 & 388 S I8s & &8s 5 33
e NN SRS 2 NP 2 NAQ o ® o No 2 2 No 2 2 No 2 2 N2
e NN NN S NN 00 [} NN O NN o o NN 00 o NN 0O S NN 0O o N o0
nn o O 00 0 e} 00 00 O [oe} 00 00 00 00 0 [oe) 00 00 [ee] 0 00 e} 0 00 ©O [¢e} o O
wr SR N N NSRS N 333 33 N NN N NN N SRR N SR
ZD 32 38 45 45 50 50 63 75 75 95 95 120 120 150 150
da 45 50 50 55 55 65 65 75 75 95 95 120 120 150 150
ds 32 38 45 45 50 50 63 75 75 95 95 120 120 150 150
d, /KD 16 20 20 25 25 28 36 36 45 50 60 65 75 80 90
s 6 6 6 6 6 6 6 6 6 6 6 6 6 9 6
da 6,6 6,6 6,6 6,6 9 6,6 6,6 9 6,6 9 9 9 9 17 9
ds 10 14 14 17 17 20 28 28 37 42 51 57 66 71 81
t; 5 5 10 5 10 5 5 10 5 10 55 10 55 20 55
m M6X8  M6xX8 _M6x12_ M6X8 __M8x12 M6x10 _M6x10 M8x12 M6x10_M8x12 M8x12 M8x12 _M8x12 M16x25 M8x12
HEE 125 (ifF& =< 125)
Inin. 28 28 28 28 28 28 28 28 28 28 28 23 23 24 21
Imax. 133 133 133 133 134 134 134 134 134 134 134 134 134 137 134
n 10 10 10 10 10 10 10 10 10 8 8 6 6 5 5
REE 300 (iHFE > 125), P& AT 2487.12.*
= - - - - 52 /62 -2 B2 /52 54 /54 A 41 37 /34
Imax, - - - - 309 309 309 309 309 309 309 309 309 402 309
n = 5 = = 22 =1R2 =22 22 /2219 19 14 14 11 =7l
TR
HALE = 2480.080. BAE = 2480.080.
ZD = 120 mm = 120. ZD = 120 mm = 120.
d,/KD = 65 mm = 065. d,/KD = 65 mm = 065.
PR = 125 (38 = 125 mm) = 125 HFE = 300 (MFE > 125 mm) = 300
iTwe = 2480.080.120.065.125 iTWs = 2480.080.120.065.300

FRER BB AR F MFIBRO F365


https://www.de.shop.fibro.com/en/2480-080-
https://fibro.partcommunity.com/?info=fibro/normalien/f/f12/f12_17/2480_080.prj



